1. For the query and index shown below, apply the 3D-List method to test whether V0001 contains the desired clips for Type 1 approximation; if so, list all such clips.

2. Read the paper by Wai and Chen, give three examples to show the differences of coding by the schemes discussed in 4.1.1 and 4.1.2. Are you convinced that the revised one is better?

3. Comment on the temporal information coding in the above-mentioned paper.

Index

Video_oid
icon_oid
symbol_oid
x
y
frame

V0001
E
S0001
0
3
20

V0001
E
S0002
1
2
25

V0001
E
S0003
0
3
30

V0001
E
S0004
1
2
40

V0001
E
S0005
0
3
55

V0001
T
S0006
0
0
1

V0001
T
S0007
0
1
1

V0001
T
S0008
1
0
5

V0001
T
S0009
2
3
10

V0001
T
S0010
0
0
15

V0001
H
S0011
1
0
1

V0001
H
S0012
2
0
5

V0001
H
S0013
0
2
8

V0001
H
S0014
2
0
20

V0001
H
S0015
2
1
35

V0001
C
S0016
3
1
2

V0001
C
S0017
3
2
10

V0001
C
S0018
3
0
12

V0001
C
S0019
3
2
15

V0001
C
S0020
3
1
25

V0001
C
S0021
2
2
30
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